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1.3.6

∅, {R}, {Q}, {N}, {R,Q}, {R,N}, {N,Q}, {R,Q,N}

1.3.15

True
Explanation:
To show that a set is a subset of another set we need to show that every element
from the first is an element in the second. Let us start by listing the elements
of the firs set.

x− 1 = 0 =⇒ x = 1.

Thus (1, y) is an element of our first set. Now we need to show that this element
is in our second set, so let us plug it in.

(1)2 − 1 = 0 =⇒ 0 = 0.

This is true, so (1, y) ∈ {(x, y) : x2 − x = 0}.
Therefore we get {(x, y) : x− 1 = 0} ⊂ {(x, y) : x2 − x = 0} as every element in
the first is in the second.

1.4.8

P(A×B) =
{
∅, {(1, 3)}, {(2, 3)}, {(1, 3), (2, 3)}

}
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